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FTC. AVG Valus
Multiple-Choice:

1. The table shows the speed of an object, in feet per second, during a 3-secona per.od.
Estimate the distance the object travels, using the trapezoid method.

Time 0 1 2 3
(sec)
Speed 30 22 12 0
(ft/sec)
a. 34ft c. 48 e. 64ft

b. 451 <>

. 4
2. Estimate szs—xzdx using the Left-Rectangular Rule and two subintervals.
0
a. 3+v21 c. 6+2421 ( e 1042421 D)
b. 5+421 d. 8+2421

6
3. For the function whose values are given in the table below, jf(x)dx is approximated by a
0 ==
Riemann Sum using the value at the midpoint of each three intervals of width 2.
X 0 1 2 3 4 5 6
f(x) 0 0.25 0.48 0.68 0.84 0.95 1
The approximation is

a. 2.64 C. 2 e. 4.64

4. Letf be differentiable for all real numbers. Which of the following must be true for any real
numbers a and b?

L [ fodx= [ f@dx+ j F(x)dx
i. j([f(X)]2 + [1xNdx =[O ~[f(a)]

b b
. | 3f(xr)dx =3[ f(x)dx
a. lonly c. land il e. I, 1l,and il

b. 1l only @ndD




. The velocity of a particle moving along a straight line is given by v(r) = 3x* —4x. Find an

expression for the acceleration of the particle.
a x°-4 c. 3x*°-4
b. x®—2x? d. 3x—-4 :

. Suppose f and g are even functions that are continuous for all x and let a be a real number.

Which of the following expressions must have the same value?

L. j [£(x)+ g(x)]dx 1. 2 j [ (x)+ g(x)]dx . j Fx)dx + j g(x)dx
a. land Il only c. Il and Ill only e. None

b. 1 and !ll only @

. A particle moves along a line with acceleration 2 + 6t at time t. When t = 0, its velocity, v,

equals 3 and its position, s, is 2. When t =1, it is at position s =
a. 2 b.5 c. 6 e.8

. The average value of cos x over the interval 13[- =% s% is
3 2
a. — e, =
T » 3
b. ' -
4 =
27

. A bicyclist rides along a straight road starting from home att = 0. The graph below shows

the bicyclist's velocity as a function of t. How far from home is the bicyclist after 2 hours?
V (mph)
12
a. 13 miles
—B.5 mies™> 6
c. 17.5 miles

d. 18 miles g \12 t (hours)

o 1 & 17

e. 20 miles
-6

T 1T

12

1
10.Let 4= j(cosx)dx. We estimate A using the L, R, and T approximations with n = 100
0

subintervals. Which is true? :
a. L<A<T<R A
b. L<T<A<R =~ The order cannot be

c. R<A<T<L determined

3S



b
11.1f f(x) is continuous on the interval a < x < pand a < c < b, then jf(x)dx is equal to

d. ‘jf(x)dx — jf(x)dx

a. _C[f(x)a’x + jf(x)dx

b. jf(x)dx — [j f(x)dx e. jf(x)dx - j f(x)dx
a c a b
C. j.f(x)dx + jf(x)dx

12.1f f(x) is continuous on a < x <b, then

a. [f@de=f®)-/(@

[ fGods =] £ e. %jf(r)dhf(x)—f(a)

c. [f(x)dx=0

d ,
d. -d-;£ fOde = (%)

13.1f P(x) = G'(x) for all x, then
b b b h
a. [F'(x)ds= [G(ax c. j F(x)dx = j G(x)dx
d. J‘F(x)dx = jG(x)dx +C

b. j F(x)dx = j G(x)dx
e. F(x)= G(x) forall x

14.Using M(3), we find the approximate area of the shaded region below is

a. 9 c. 36 e. 54
15.Using T(6), we find the approximate area of the above shaded region is
a. 17.5 .35 e. 60
b. 30 . 36

56



e. -96/5

c. 4/3

d.-1/3

17. [2costdt =

mi2
a. 2cosX c. 2sinX e. 2sinx — 2

b. -2cosX d. -2sinx + 2
18.1f f(x) is an anti-derivative of x> fx* —1and f(2) = 0, then f(0) =
a. -6 c. 2/9 @
b. 6 d. -52/9 —
* 3t _
19. g(x) = j—;——idt _then g'(2) is
1+ .
a. 0 c.2/3 e. 5/6
(255

b. -2/3

R
ping at a rate of f(@)= 4Slnzdegrees for

20. The temperature of a cup of coffee is drop
If initially, the coffee is 95°F, find

‘ s

0<t<5, where fis measured in Fahrenheit and t in minutes.
{ degree Fahrenheit 5 minutes later.

its temperature to the neares
c. 91 e. 94
D, 8 d. 92



